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APPLIED MECHANICS (CBCS)
Sub. Code : 71819

Day and Date : Wednesday, 05 - 12 - 2018 Total Marks : 70
Time : 02.30 p.m. to 05.00 p.m.
Instructions: 1)  Solve any three questions from each section.

2)  Assume any data necessary & highlight it in answer sheet.
3)  Figures to right indicates full mark.
4)  Use of non programmable calculator is allowed.

5)  Neat sketches should be drawn wherever necessary.

SECTION -1
Q1) a) Define force system and classify it. 13]
b) Find magnitude of resultant for the force system shown in figure. Also
find position of resultant w.r.t O. Given radius of circle is 2.5 m. ~ [9]
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02) a) State and explain Lamis theorem. [3]
b) Two spheresA and B of weight 1000 N and 750 N are kept as shown in
figure. Determine reactions at all contact points. Radius of sphere A is

400 mm and radius of sphere B is 300mm. 191
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Q3) a)
b)

04) a)
b)

Q5) a)
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06) a)
b)
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Explain different types of supports. [3]
Determine support reactions for the beam loaded as shown in figure.
Support A is hinge support and B is roller support . [8]
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State and prove perpendicular axis theorem., [3]
Determine Polar radius of gyration for given fi gure about its centroidal
axis. R=6mm [9]
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SECTION - 11

Define Kinetics and Kinematics. [3]

Alift carries a weight of 3600 N and is moving with a uniform acceleration
of 3.5 m/s’. Determine the tension in supporting cable when 1) Lift is
moving upward ii) Lift is moving downward. Assume £=9.81m/sec? [8]

Define Impulse momentum principle. [3]
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